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#4 = ;4<=61+=77Q78%!!
|

N7AQ! 1!
=500+500(0.02)
= 500(1+0.02)
!
!
N7AQ! .E!
= 500(1+0.02) + 500(1+0.02)(0.02)
1= 500(1+0.02)(1+0.02) !

=500(1+0.02)*
|

N?A@!ZE!!!
=500(1+0.02)* +500(1+0.02)?(0.02)
=500(1+0.02)*(1+0.02) !

=500(1+0.02)°
|

N7AQITE
500(L+0.02)* !
|

N7AGIPE!
= 500(1+0.02)°

=500(1.02
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94 = ;4<=676!6ABFIILG7!KABA=97!S5BBIK7IHM7=1?4IFA<I2-1F7A@8!AC?7@!FA<!HRAG<A?7!004 = 194887H71!1345! = <9C!
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Warm-Up: (answer key)

| 51=15JK177< L$MS$G<
#[3"__I0787A87617787IV<78%4=fl WAQ?4GE!
! |
! |
f XD+ (D),
! =(2x+1)(x+1)
!
! E
! !
! KIlI50(1+ x)+50(1+ x)le
| T=50(L+x)(1+Xx%)
|
I
[=8570E#!
I
!
| 5, %G #< N#*$ine: |
Y77 &8717G7BAS8!4(17b ; 4=7=7817418> = ;B>(FE!
w=12, r=3 n=4, find the value of !
W (1+ 3) Al
n
3
=12|1+ E)
4
3
=12 E)
4
-12(2)
64
=23.4375
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